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PAPER II
EDUCATION

Note : This paper contains hundred (100) objective type questions of two (2) marks each.
All questions are compulsory.

1. Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Read the statements and choose the correct answer using the code
given below.

Assertion (A) :  Philosophy of education being an abstract subject does not naturally
belong to teacher education course.

Reason (R) : Philosophy being a difficult and complex subject, creates more
confusion than clarity.

Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) Both (A) and (R) are not true.

(4) (A)is true, but (R) is false.

2. A teacher having inclination towards Naturalism may react to a proposed visit to
museum and zoo as

(1) I will not take my students there because they are both unnatural institutions
created by man

(2) I will not take my students to a zoo because in a zoo, animals are kept in
unnatural settings

(3) Of the two, I will prefer going to the museum because there, the students will
have the opportunity to observe animals which have become extinct

(4) I will take my students to both because they both will help my students to
at least learn something about animals

3. Which of the following combinations of statements is in tune with existentialistic
education ?

(i) A student is not complete in all virtues and potential.

(i1) A student can become whatever he/she wants to become.

(iii) A student does not need the support of society.

(iv) A teacher has no role in the education of his students.

(v) A student alone is responsible for whatever he/she is today.

(vi) Loneliness, pain and agony are good teachers.

Choose the correct answer from the code given below :

Code :

(1) (@), (i), (qii) and (v) (2) (b, (iid), (iv), (v) and (vi)
(3) (), (iid), (v) and (vi) (4) (), (i), (iv) and (v)
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forem
391 38 397-97 4 @1(100) Fg-135cH19 597 & | 5c4% J97 & G (2) 37% & | §H1 397 SfAard & |

1. F= g1 e o w2 S @ o i (A) 8 3R gEU @k (R) B | el I dfey SR A=
fou T e ® § T W g |
WW(A):@;@%&H%%@WW:@W%&TW@@&H

T B

7% (R) : Teh hicd 3R foun fowr g9 o T geiamIre Tasedt @ 3ifers wita o 7 |

e :

(1) (A) 3R (R)IH |1 3 721 (R), (A) 1 &8t =& ¢ |

(2) (A) 3R (R) qH ¥81 7, 7g (R), (A) i T = a1 @ |

(3) (A) 3R (R)GHI Td & |

(4) (AW E, g (R) T & |

2. TR iR fafeamr < wwarfaa 3 % fowe o whidarg o Ufd @ W@ are T STeash
gfcfseam < b
(1) T 19 BHEI I T8 o TS FiTh 3 GHI & 93T g i sTomehfaes weemd 8
(2) H oo Bl i fafeamr 78 @ Sem wife Ffeamr § SHexi #i oTRfa el ®
TGl 1T 8
(38) TFi § ¥ H G THT YH= HE FAifeh Fal STl ! faqed & gob IR 1 q@H 61
R foerm
(4) T 193 BT I ET T8 o ST (k3 ST T8 T BTAT bl HH-H-HT TR b TN
T e | weEar fert!
3. frefafiga § @ S19-8 seEt 1 aftiyor sifedcaard f¥em & araa 4 2 2
(1) e B afi o qen tfEmareT § qul 98 g |
(i) T B S A8 98 o Tehd 8 |
(iii) Teh BTA ! THS 6! EEAT ! STEThdT &l gl |
(iv) 1o BT 1 e § weh sreamaes i hig yftest T& gt |
(v) 9 T BE S Fo W 2, 30k fog 98 @ R @ |
(vi) UhMEhITH, TIST Qe AT 3T=a 1A & |

= few e e & | T S g

<< :

(1) (@), (i), (i) 3R (v) (2) (), (ii), (iv), (v) 3R (vi)
(3) (id), (iii), (v) 3T (vi) 4) (), (i), (v) 3R (v)
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4. Which of the following combinations of subjects of study, will find favour with a
teacher having Marxist leaning ?

(i)  Science and Maths

(i1) Social Sciences

(i1i) Meditation and Yoga

(iv) Means of mass production

(v) Military and War training

(vi) Religious and Moral education

Choose the correct answer from the code given below :

Code :
(1) (), (i), (v) and (vi) (2) (i), (iv), (v) and (vi)
(3) (i), (iii), (iv) and (v) (4) (@), (i), (iv) and (v)
5. Which of the following lays emphasis on training in arts and crafts ?
(1) Islam (2) Jainism
(3) Buddhism (4) Sankhya
6. According to Shankaracharya, the internal means for getting salvation are

(1) Discrimination (Viveka)

(2) Detachment (Vairagya)

(3) Disciplinary devices (Shamadi)
(4) Shravan, Manan and Nidhyasan

7. Tagore’s ideas on naturalistic education imply that
(1) Follow nature as exhorted by Rousseau
(2) Nature is God’s manifestation
(3) Respect the philosophy of realism
(4) No respect for idealistic education

8. What will be a correct sequence of the following according to Vivekananda’s message
to channelise the energies of the youth ?

(i) Introspection

(i1)) God’s realization

(i1i) Eradication of poverty

(iv) Undergoing proper education

Choose the correct answer from the code given below :

Code :
(1 (@), (i), (i), (iv) (2) (@), 1), @v), (iii)
(3) (i), (i), (iv), (1) (4) (i), (@), (iv), (iii)
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4, frafafaa @ @ HF-8 fawi o1 aftiy T aedard s 9o 31eATaeh i dmefe qrd ?
(i) o ofK i
(i) oo fagm
(iii) == S A
(iv) o9k 3cATE h TTeH
(v) &A1 3R g uireror
(vi) enfifes 3R Afces frem

= feu U e ¥ | TE ST A gHT

E T

(1) @, (i), (iv) 3R (vi) (2) (i), (v), (v) 3R (vi)

(8)  (id), (iid), (iv) 3 (v) 4) (@), Gi), (iv) 3R (v)
5. Frafefea & @ i selm 3R g&afyed o gf¥rerr W SR <ar 7 ?

(1) z=am gd (2) SH ud

(3) g o (4) @ET gIH
6. IRUET oh ITTAR HIg Wt sl HATdReh HTEE 7

(1) fE=

(2) |

(3) zmIfe

(4) &, T 3R FemeE

7. MR % ehfqardl e & foemd @ Ffgard ®
(1) & gR WG Thid H1 ST FU
(2) ThMd 3T H TIH FI 7
(3) JATfdTE o T BT T HU
(4) Imesiard fen & fou w8 e 7@

8.  FATSA HI HalleAl % A= &g fadehrrg & T o1 fafeiad & & Tt gshu &= gm 2
(1) 3men e
(i) S¥aR AgHfd
(iii) TS I
(iv) aqf=a frem wifea
= feu 7T e § @ HE W H G
<< :
(1) (@, (i), (i), (iv) (2) (D, (1), Av), (iii)
(3) (i), Gii), (iv), () 4) (@b, @), (v), (ii)
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10.

11.

12.

13.

14.

Imitation of constitutional values by school learners can be effectively done through
(1) Mass reading of the Constitution during prayer

(2) Ensuring proper study of Civics subject

(3) Day-to-day discussion on behaviour by linking to various constitutional values

(4) Giving recognition to students who interpret the constitutional values correctly

Modern linguistic analysis regards the language used in
(1) Social Sciences (2) Physics and Maths
(3) Performing Arts (4) Philosophy and Psychology

Understanding and analysing educational concepts from sociological perspective is
the concern of

(1) Sociology for Education (2)  Sociology in Education
(3) Sociology of Education (4) Educational Sociology

The most important barrier to social change according to Taylor is
(1)  Our religious beliefs (2) Ethnic diversity

(3)  Our own perceptions (4) Caste system

Social stratification refers to

(1) Classification of people in different categories

(2) Hierarchical classification of people in different categories
(3) Assignment of people to equal groups

(4) Dividing people in terms of habitat

Which of the following combinations will give appropriate provisions for the
education of the deprived children ?

(i)  Free books and uniform

(ii)) Economic support to the physically handicapped children

(iii) Distributing equipment to respective physically disabled children
(iv) Motivational lectures in school every week

(v)  Scholarships for the needy children

Choose the correct answer from the code given below :

Code :
(1) (@), (i), (iv) and (v) (2) (@), (1), (ii1) and (v)
(3) (i), (i) and (iv) (4) (i), (iii), (iv) and (v)

3-00918 [NV NV ARV RAMARRE AU 6 Paper I



10.

11.

12.

13.

14.

TRal! HATeFHeRdIST G HodTeh Hedi o1 JHTET ST hdl &l Fehell § ?
(1) AT & S0 Giag™ 1 afes ar=H

(2) TR STed fower <1 wfea stered giafRea s

(3) Tafva Faenfer gedi & ek SHagNi T HI-THT T ==t

(4) GAgTHH Hedi 6l TEl AT L dTed BT bl FHATHT B

anyfie wTerRh foweryer fop fawr ® R WTST SRt EEH g ?

(1) gt fomm (2) ifaeht qer forg
(3) eI el (4) <4 I FAIfagH
T qives 4 it raumonat o gHeET IR favdftd s foraen agan 8 2
(1) Torem & foqu gaemE (2) fToen o gueRTE
(3) Trem =1 wHSRITE (4) Qg TSR

T & TR TR IRadq H Halfess aeeh a8

(1) &R efifes fovama (2) o fafeeman
(3) BUR TF % Tcaefienu (4) S e
graTSTeh TAhor ¥ dIcdd 3

(1) < o fafi SR o arffestor

(2) < o fafir sforn o ueshat & arffertor

(3) N ! T TGl # dfe

(4) T Tl & SR W A &1 faursm

frferfea & @ ®H-a1 affly afaq STt 6t e 2q Tgfd TaeeT g ?
() 3o gEaeh SR a9y

(i) wfE g & foesham sTerehl I 3TTiesh dgmaT

(iii) SR T&THAT & HEfI STctehl hl UM oI foraom

(iv) Y gearg foeme™ # iRl s

(v) SR STeTehi sl BEGR

= feu 7T e § | HE W AT

% :

(1 @), (i), (v) 3R (v) 2) @), (D), (i) 3R (v)
(3) (ii), (i) 3 (iv) (4) (id), (iid), (iv) 3 (v)
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15.

16.

17.

Through interaction, an ethnic group of children has started learning the patterns of
behaviour of a privileged group of people. This influence will be considered as an
instance of

(1) Acculturation (2) Enculturation
(3) Cultural lag (4) Social change

In the study of educational psychology, two main methods are being used — distal
and proximal. From the list given below, identify those methods which are called
proximal.

(i)  Observation method

(i1) Introspection method

(iii) Clinical method

(iv) Experimental method

(v) Evaluative inquiry

(vi) Ex-post facto method

Choose the correct answer from the code given below :

Code :
(1) @), av) and (v1) (2) (1), (i1i) and (v)
(8) (i), (11) and (iii) (4) (@{v), (v) and (vi)

List I gives a list of stages of cognitive development by Piaget and List II gives its
characteristics. Match the two lists and choose the correct answer from the code
given below.

List I List I1

(Stages) (Characteristics)
(a) Sensori-motor 1) Symbolic play
(b) Pre-operational (i1)  Object permanence
(¢) Concrete operational  (iii) Logical reasoning
(d) Formal operational (iv) Systematic reasoning limited to concrete

experiences

Code:

(a) (b) (c) (d)
(1) Gi) (1) (iv) (iii)
2) @ (iii) (i) (iv)
3) Gv) (1) (ii) (iii)

(4) @Gi) () (iv) (i)
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15.  37:TRaT g, JoTd SHE o Sl 4 T GEX [oRINTIRRR Itk EHE o ATl o IR o AR-aiIehl
I AT IE fhAT | TE TUTE HgaAT@m
(1) ScEEh (2) EEHATRT
(3) wrEpfTe faas (Te=mn) (4) TR gitEda

16.  fere FIfeRE % ofeRH ° g yq@ fafeet wgw @ W § — gradt @ aiaey | fefafea get
g 37 faferi bt vg=m Hifse 2 afiaes’ sar S g |
1) e fafe
(i) oFa:3racte fafe
(iii) FremTere fafa
(iv) T fafyr
(v) ToAThTIE STayul
(vi) R fafy
= fou MU e § @ T IW H AT
<< :
(1) @), (v) 3R (vi) (2) (i), (ii) 3R (v)
(3) (), (i) 3 (iii) (4)  (iv), (v) 3R (vi)

17. g 1 H @M 6l GFEcaes g i raeensti i g Yed § adn gt 11§ gehl faemard &
T § | 31 31 gfuat w1 gafaa e it fie fow e ge § @ T sw o g |

Hjl"f | Hjﬁ 11
(erereamd) (feroreramd)
(a) Hadl IH (i) udiehTeres shiel
(b) yd-wfshaTH (i) =g vee (Tunfe)
(c) T HfshaTcHeh (iii) arfeher frer=m
(d) ®9 GfsharcHs (iv) 7d STWal qeh HIHd hAeg Toh

<< :

(a) (b) (c) (d)
(1) @i (i) (iv) (iii)
(2) @ (iii) (i1) (iv)
3) (iv) (1) (ii) (ii1)
(4) (ii) (ii) (iv) (1)
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18.

19.

20.

Which of the following is an example of the lowest form of learning ?
(1) Instinctive behaviour (2) Conditioned response
(3) Intuitive behaviour (4) Imprinting

In the two lists given below, List I mentions the five types of classical conditioning
procedures in terms of temporal relations, while List II specifies the method of
pairing of conditioned and unconditioned stimulus therein. Match the two lists and
choose the correct answer from the code given below.

List I List IT
(Types of classical (Method of pairing of conditioned and
conditioning) unconditioned stimulus)

(a) Forward conditioning (i)  After the commencement and termination of
the conditioned stimulus, the unconditioned
stimulus is presented

(b) Simultaneous (ii)) Conditioned stimulus precedes a few seconds
conditioning before the presentation of unconditioned
stimulus

(c) Delayed conditioning  (iii) The presentation and termination of both
conditioned and unconditioned stimulus
coincide

(d) Trace conditioning (iv)  When the conditioned stimulus is likely to
terminate following an extended presentation,
unconditioned stimulus is presented

(e) Backward conditioning (v)  Both conditioned and unconditioned stimulus
commence and terminate at different points of
time

(vi)  After the termination of unconditioned
stimulus, conditioned stimulus is presented

Code :

(a) (b) (c) (d) (e)
(1) (i) (iii) (iv) (i) (vi)
(2) @ (i) (iii) (iv) (v)
(3) @i () v) 1) (vi)
(4) (i) (iv) (iii) (v) (vi)

Which subordinate law of Thorndike’s connectionist approach to learning anticipated
classical conditioning paradigm ?

(1) Response by analogy (2) Prepotency of elements
(3) Associative shifting (4) Multiple response

3-00918 [NV NV ARV RAMARRE AU 10 Paper I



18.

19.

20.

fr=fafaa 9 9 s-ar stftrm & 9y =g &1 e ? 2

(1) ¥d Sghiesh e (2) STISfa fsha
(3) Iq:JHATcH FAER (4) AT

for & g < gieel ¥ g [ SFia Fiehi STIeeA % Ui TehIi S 3ol 8 S hifeTsh
Fra-dl & YR W TR MU &, Safh Tt IIH STHa9d U9 SHSId el & WA hi fafy
i & | 39 S (ol ! afad hifve TR 1 fGu 70 e & & &1 3T 1 T |

T I T 11
(TR STTEA T TR (s1gafera qen satea ST o giEA
farfer)
(a) Iadl e (i) e 3Eush % IREY T TuIftd % &g
SASfd €Uk Ta feham SATT 3
(b) FEHMRR FIEEH (i) STgafoa s, S €U HI Tl &
TS THUS Y AT B
(c) Todfr@ sTga-aa (iii) Faf¥a Td SHHEUd IEUehi H TR Tr-|n
gl &
(d) fg e (iv) & SFaf-ed IEdeh TuTed g4 Tl gl dl 3Heh
3 Ugal SMTHE(-Id IEdeh TEqd S e AT B
(e) UT=IEdl oA (v) f¥d Td SHEEd €U — g1 1 IFY T

3= 3TAT kT @ H feran ST 3

(vi) S g i THITA & oG S
JEIeh T fehan STt @

e

(a) (b) (c) (d) (e)
(D Gi) (iii) (iv) @) (vi)
2 @ (ii) (iii) (iv) (v)
(3) (i)  (@v) (v) (i) (vi)
(4) (i) (iv) (iii) ) (vi)

ITETEeh o TIYATE! A o UM § hiH-|1 7efiaey Fom Fefeh ey &1 Smureas
WIE?

(1) TG Tk (2) dEl Sl et

(3) HEIAcHS LA (4) wg-3gfoha
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21.

22.

23.

24.

25.

Stimulus or response generalization is an example of
(1) Inhibition (2) Extinction
(3) Transfer of learning (4) Delayed learning

Which one of the following was a support to Tolman’s sign-gestalt learning ?
(1) Drive discrimination learning experiment

(2) Place learning experiment

(3) Learning of motor patterns

(4) Field cognition modes

In which of the operant conditioning procedures, is positive reinforcement made
contingent on the making of a response in the presence of a cue ?

(1) Reward training (2) Escape training
(3) Active Avoidance training (4) Discriminated operant training

According to one of the postulates of Hull, reaction potential of a person is the
product of

(1) Habit strength and drive

(2) Incentive motivation and conditioned inhibition

(83) Conditioned inhibition and oscillation of reaction potential
(4) Reactive inhibition and conditioned inhibition

In the following two lists, List I gives the name of theorists in learning and
motivation, while List II provides the popular conceptual labels. Match the two lists
and choose the correct answer from the code given below.

List I List I

(Theorist) (Popular conceptual label)
(a) C.L.Hull ) Functional autonomy of motives
(b) Abraham Maslow (ii)  Life space
(¢) Kurt Lewin (iii) Habit-family hierarchy
(d) Gordon W. Allport (iv) Need hierarchy

(v)  Latent learning
Code :

(a) (b) (e) (d)
1 @ (i1) (iii) (iv)
(2) Gi)  Gv) (ii) (i)
(3) (Gv) (i) (i) @)
(4) (1) (iv) (iii) (i)
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21.

22.

23.

24.

25.

IEITh AT TR ATHTRAHIT T ITET 3
(1) Ty 2) foem
(8) 3oy T BEATAROT (4) Toafra sAftrm

Frafafea § @ #F 2edq & fag-Teree 1M i gee ot 7 2

(1) 3G fawdie stferm

(2) TN AR TN

(3) TifaTet Tyl @ ey

(4) &7 99 YR

ToRaTSRIT TIshe <Al fope TGl o See Hehd o IUMEUd T&d g HMRAT Icud HUAT ThRIHH
oo W R T S g 2

(1) YThR Hfreqor (2) UAREH gretor

(3) dhER fem (4) T smenfia R foemor

& 1 AMHUROTST H H Th & AFHR, Th ik 1 Fhifshan qrmed qiom 2
(1) 37T & Td =1 ol

(2) I MYIOT UG IS Jrey

(3) TR ITEY TF TR TEHTSIAT o G

(4) fdfshaTcHeh JTaY T STehicid JTeie

= < et o g=h 18 ifm wa il wafoa fagrasi &1 9w fen wen R et
T 118 399 g0 Yed Y@ (A0r) J=ies affentor fan man § | 39 a1 greEi i gate
IO AR el U T e # | @ I A AT |

T I g I
(Frgren) (wferafea sraemromd)
(a) Hi.ud. & (i) YRl T TehTTcHS TETIT
(b)  3TsTEH HEAl (ii) Sffem g
(¢) e dfem (iii) 3TTEd-aRaR 3TfesRn
(d) e Sscg, T (iv) STawIehdl TR

(v) 31eah it
e :
(a) (b) (c) (d)
(1 @ (i1) (iii) (iv)
(2) (ii) (iv) (ii) i)
3) (iv) i) (i) (1)
(4) (i) (iv) (iii) (1)
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26.

27.

28.

‘Frustration-Regression’ principle in motivation was discovered by
(1) McClelland (2) Herzberg
(3) Maslow (4) Alderfer

Which of the following set of statements, in respect to learning and motivation, will
be endorsed by a constructivist paradigm ?

(i) Learning occurs through pairing of stimuli and deprivation of needs.
(i1) Learning is a meaning making process and is facilitated by ego-involvement.
(i1i) Diminution in drive leads to learning.

(iv) Children learn better by reconnecting new information with previous
information.

(v) Principle of reward and punishment is related to durable learning.

(vi) Feeling ‘aligned’ and ‘inherent’ is indicative of optimal motivational orientation
and self-learning.

Choose the correct answer from the code given below :

Code :
(1) (1), (11) and (iii) (2) (@v), (v) and (vi)
(3) (ii), (iv) and (vi) (4) (i), (iil) and (v)

In the two lists given below, List I mentions the name of the psychologist while
List II provides the specific concept of intelligence proposed. Match the two lists and
choose the correct answer from the code given below.

List I List I1
(Psychologist) (Concept of Intelligence)
(a) Spearman (i)  Emotional intelligence
(b) Thurstone (i)  Structure of intellect
(¢) Guilford (iii) Multiple factor theory
(d) Goleman (iv) Two-factor theory

(v)  Spiritual intelligence
Code :
(a) (b) (c) (d)
(1) Gv) (iii) (ii) (1)
(2) @) (i1) (iii) v)
3) (i) (iv) (iii) (v)
(4) (D) (iii) (iv) (v)
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26.

27.

28.

R0 § ‘Fuar-ufam= frgra H @ fraa i 2

(1) Bepciivg (2) &St

(3) oA (4) TeeH

T e Ifaam g feafafad weat § s1ftrm wa st & el d foha et o
amifed feram S 2

(1) 3EUehl o I 3TN ATavIhdT-gE- | Tferm Tfed giar 7 |

(i) Iferm Tk ref-famtor ufsha 8 o 18-IddT g S8 Hehe ST AT 2 |

(iii) 3Frddig § BT STRATH 6T TR EX T 2 |

(iv) == 7% GeT 1 GO e 8 SigeRt Sgat dEd § |

(v) YEHR R <8 *1 fgia fesrrs tfomm @ dag 7 |

(vi) Fug 3R e UgHE ST §5aH ANTRueHS ATgEdr 3R - i et 2 |

A9 fon e e @ AR IR A G -

<< :
(1) (), (i) 3R (iii) (2)  (iv), (v) 3R (vi)
(3) (i), (iv) 3 (vi) 4) (1), (iii) 3R (v)

fefefaa o gioat & g 1 9asieht & T 1 i) 3 @i gt 11 3% g Yea fafime
gfg STaamnsT i i 8 | 39 gHI Fioi ol gafera hife 3R = fow T e & & a8t 3w
=l g |

o= I o=t 1T
(wATTR) (3fg sraemond)
(a) TR (1) HrdaTeHsh 91
(b) & (i) gfg &t =
(c) fiewE (iii) sgR THgid
(d) maRa (iv) fo-wres fogra
(v) omenfelss =
e :

(a) (b) (e (d)
(O Gv)  Gi) @G i)
2 @ (i1) (ii1) (v)
(3) (i) (iv) (i) (v)
(4) (i) (i)  @Gv) (v)
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29.

30.

In the two lists which follow, List I mentions the name of personality theorists while
List II indicates the particular label given to the theory of personality. Match the
two lists and choose the correct answer from the code given below.

List I List IT
(Personality theorist) (Theory of Personality)
(a) Sheldon (1) Surface and source traits of personality
(b) dJung (i1))  Psycho-analytic theory of personality
(c) Allport (iii) Endomorphic, mesomorphic and ectomorphic
type
(d) Cattell (iv) Extroversion-Introversion
(e) Freud (v)  Theory of personal disposition — cardinal,

central and secondary traits
(vi) Fictional finalism and striving for superiority

Code :

(a) (b) (c) (d) (e)
(H @ (ii) (iii) (iv) (vi)
(2) (i) (iii) (iv) v) (vi)
3) @) (ii) (vi) (iv) (iii)
(4) (i) (iv) (v) (1) (i)

From the list given below, identify those sets of statements which explain the
process of adjustment in terms of its basic characteristics.

(i)  Adjustment is a bi-dimensional process.

(i1) Absence of adjustment may lead to delinquent behaviour.

(iii) Absence of conflict and frustration is called adjustment.

(iv) In a well-adjusted person’s behaviour there is minimal difference between
saying and doing.

(v)  When a person shows adjustment in one situation, it follows in other situations

as well.

(vi) A well-adjusted person shows sensitivity in understanding one’s own self and
that of others.

Choose the correct answer from the code given below :

Code:

(1) (i), (ii1), (iv) and (v) (2) (ii), (iv), (v) and (vi)

(3) (1), (id), (iv) and (vi) (4) (vi), (v), (iil) and (i1)
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29.

30.

frafafea & gfal 8 9=t 1 safthea fagraert & am qon g=ht 11 37 g gfanfea safthea
fagrdi =1 it & | 39 <A giwa 1 gafaa A o 9 g g § @ o s o
T |

Tt 1 = 101
(afehea Rrgraenn) (safehea o fagr=a)
(a) e (i) eafeed 61 gss 3w fss
(b) I (ii) =afthca w1 AAIfSTeYOTCRs g
(c) U (iii) TIATHR, ATHR T TEATHR HE ThR
(d) hea (iv) sfgdeh-sradet
(e) %S (v) =afehrd g — Ged, shegadi Ta Tor ferRmre
1 forgra

(vi) hfcyd THISHaTE qen gadr 6l =g

e :

(a) (b) (c) (d) (e)
(1 @ (i1) (iii) (iv) (vi)
(2) (D) i)  (iv) (v) (vi)
3) @) (i1) (vi) (iv) (iii)
(4) Gi)  Gv) (V) (i) (ii)

frfafed g=t 9 9 oAl 1 SF-91 99w 0N g faRwareti & g § qurise gfsha @6
TEITOT AT B 2

(i) EHESH T fg-omam) afshan 2 |

(i) THTESH T AT ST TGN 6l X o J1aT 7 |

(iil) gg Td el H1 T FHTESH HEdT 3 |

(iv) Ueh GUENS o3t & oFagR # St 3T T i 3L Teqad 2T 2 |

(v) 3fe =afh T aifeafd § qurieH &1 JeeF &l @, A1 98 qudl Jifedtad § ot 9 &

HAT 7 |
(vi) Ueh HHRITIA SAfth €9 Sl GHS H qAT QO ! THFH H FaAGAIIerd 1 IR= odl 2 |
Fr fiw T e F & T IR H g ;
<< :
(1) (i), (i), (iv) 3R (v) (2) (i), (iv), (v) 3R (vi)

(3) (), (i), (iv) 3R (vi) (4)  (vi), (v), (iii) 3R (ii)
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31.

32.

33.

34.

35.

Which of the following sets of statements is appropriate in the context of
counselling ?

(i)  Counselling is a face-to-face interaction between two persons.

(ii)) Counselling is a help in understanding one’s positive and negative dimensions.
(i1i) A good counsellor is one who persuades the client to follow what he/she says.
(iv) Implicit consent of counsellee is necessary for counselling process.

(v) Establishment of rapport is not so essential for the counselling process.

(vi) For counselling to take place, some dysfunctionality is implied.

(vii) Follow-up is not a part of counselling process.

Choose the correct answer from the code given below :

Code :
(1) (@), (v) and (vi) (2) (1), (1) and (iv)
(8) (1), (111) and (vii) (4) (@), (i) and (vi)

For organising an effective Guidance Service in a school, which of the following will
be of marginal importance ?

(1) Availability of various types of tests

(2) A spacious lounge for discussions

(3) Trained guidance personnel

(4) A properly displayed room with required infrastructure

Which of the following Guidance Services is relatively on a weak footing in India ?
(1) Counselling Service

(2) Placement Service

(3) Individual Data Collection Service

(4) Follow-up Service

A student of Class IX approaches the Guidance Personnel in a school and informs
them about his/her adjustment with the peer groups in the class. Which mode of
Guidance Services will be the best fit for this situation ?

(1) Educational Guidance (2) Vocational Guidance
(3) Personal Guidance (4)  Group Guidance

A School Principal is receiving a number of queries from students of senior classes in
making the Swachhata Abhiyan in the school effective. Which type of guidance
programme will be helpful in this regard ?

(1) Conducting counselling sessions

(2) Organising discussion sessions

(3) Arranging group guidance for the target group
(4) Holding discussion with teachers and parents
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31.

32.

33.

34.

35.

st o Tey # frfefad wodi § ¥ sH-a1 ag= 3t 2 2

() TS, g FREA P e SEA-AH foRan S arelt yReEfes gere 2 |

(i) e 9 ford) safts o TR 3T GshRIcHesh AR &l THe § Hgrdl fHad! 2 |

(iii) 3T=ST GHICIdT 98 Bl & S garefl sl 379 d) 7T 91d 1 I i & foIu Teit swtan
2

(iv) TES-gfshat o fou qumsi-reaendl il 3Tdffed @ghfd Teavdeh & |

(v) TERI-NfsRat o fTg Hfse Sey TTiud ST 98d Sk e T8l § |
(vi) TS & T $& STEME=IAT 1 gH1 TS 8 |

(vii) SFerd! =i, qOmel-afshan <t e T8 g # |

Fr fou T e # | T IW H AT

%<

(1) @), (v) 3N (vi) (2) (@), (i) 3 (iv)

(3) (i), (iii) 3 (vii) (4) (i), (ii) 3 (vi)

forelt Tt H gl Fde Fa1 weM % & fore fmfefaa § 9 foreer wew wga stfue &
37

(1) Tafir TR <t qhiemati i Suctsyar

(2) Toem-fawust & foru eran-<ier T (S3HEm)

(3) fwfara amiesff i

(4) T 3fud w9 @ yeRia wg o stavaes qaa glaand 3uaeg 8

frfafaa & 9 wR-E fdem da1 9Rd § oUEhd HHER 8 ?

(1) 3Sy«egs (Tmst) |ar

(2) TIWA TaT

(3) Saftheh SMUR-TTHA Hehe T

(4) oTgad qan

HET X T Th S TR oh (G I oh T8 TR 39 T HeTT o THAYRI b G137
TS I 91 SArd/Edd @ | 39 el % fou e yer i Fwm dar gem sifis 3ugeh
gt ?

(1) feges e (2) SaEE e

(3) Fafte fdwm (4) amfesh frcE

Teh TRl o TUHMETR i Thdl H oadl AHIM i THTE] - o 99 H e Hersti o SHl
Y 319 TR % T U BId & | 36 G99 § fhE TR o1 (eSS geres g g 2
(1)  wwel-|s TR et

(2) =TE-TF AT BT

(3) wferd wg % fore amgfess fFdeM 1 y&g e

(4) rEATIRT TR RTEh & T foem-fomst s
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36.

37.

38.

39.

40.

An investigator studied the impact of level of schooling on attitude towards dowry
system in terms of gender of respondents drawn from rural areas. The moderator
variable in the study would be designated as

(1) Level of schooling

(2) Attitude toward dowry system
(3) Gender of respondents

(4) Rural habitat of respondents

Two values of correlation coefficient are reported in a study. Both are equal in
magnitude but opposite in direction. Which of the following statements is true for
these values ?

(1) Positive value indicates a higher degree of relationship than negative value
(2) Negative value indicates a higher degree of relationship than positive value
(3) Both the values indicate the same degree of relationship

(4) Both the values are not comparable

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Read the statements and choose the correct answer using the code
given below.

Assertion (A): Mean is the most frequently reported measure of central tendency.

Reason (R) : The computation of mean is based on each individual score of the
sample.

Code:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

The probability of committing type I error is tenable when a researcher
(1)  Accepts Hy when it is actually true

(2) Rejects Hy when it is actually true

(3) Accepts Hy when it is actually false

(4) Rejects Hy when it is actually false

In experimental studies, the effect of a variable which cannot be observed but can
only be inferred, is termed as
(1) Independent variable (2) Moderator variable

(3) Intervening variable (4) Control variable
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36.

37.

38.

39.

40.

T INeyehdl 3 TTHIOT & & wfaumh ot foemert g T w1 ges ven % wfa sl w v
1 o1 9e o grery § 3reed T | 39 o1egEa § e =R hiH-ET o ?

(1) oo foem =w

(2) & ¥ % ufd Atk

(3) wfqwfire st for

(4) wfqfiE St o gseyf

Teh T § TG4 UM o &1 O od1C T | g 9 § awer foheg foom o foudia o |
3 A & fore fafaRea o @ -9 SR T 8 2

(1) &FTcHe A, RUTcHe HH 8 3= T o1 Tra-Y oF<h hidl & |

(2) RUTIcHeh HH, YTcH HH 8 3= T 1 Gra-Y oI<h hidl & |

(3) I & W FHH T I GFY Ih Hd § |

(4) QT AT Y gorr & Y S Fehd |

= 31 e fou e E 5 8w srfirem (A) R o gET 9% (R) R | el w1 ufen of i
feu U e # & W& IW FAT |

STy (A) : HEIHT HaT(Yeh ST hrgad] Ygid 1 79 7 |

7% (R) : HeqT <l AT Ufest o Yok SRR JTedieh 9T ST @ |

E T

(1) (A) 3R (R) THI @&l § 7 (R), (A) Fl 98 = 2 |
(2) (A) 3R (R) gHi T& &, T (R), (A) ! &l =& & 7 |
(3) (A)EE g, g (R) T4 ¢ |

(4) (AT 7, 7q (R) &S 2 |

ToH YRR <h S sl ITRIehdl a9 TeherTd Il 7, STa SNEhdl
(1) H, ™ Wiihd L Jalh Iead § 98 9 3 |

(2) H, %! 3=iehd L Selleh qEqal H 98 T 8 |

(3) H, ! Wiiehd i Selfeh Ireca H 98 39 8 |

(4) H, = 3¥Ehd L Selfeh qTeda H 98 3@ 8 |

TANTIcHS AT §, UHT =X T8k Y9TE 1 AN TN ST Gehdl 81 <ifchd 3G STaqlh
(Jegor) & TSR ST Tk &Y, <l <hET ST B

(1) frufa == (2) fEms ==
(3) WHeHadl =W (4) T =X
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41.

42.

43.

44.

45.

46.

47.

For a sample of 225 cases, mean and SD are respectively 40 and 8. The 95%
confidence interval in integral numbers, for true mean of the population is

(1) From 38 to 42 (2) From 38 to 41
(3) From 39 to 42 (4) From 39to 41

An experimental study conducted on four groups consisting of 25 students each,
reported the following results based on ANOVA :

Source of variance Degree of freedom Sum of squares
Between Groups 3 1260
Within Groups 96 4250
Total 99 5510

The value of F-ratio for the above data would be
(1) 331 (2) 994 (3) 3562 4) 44-27

The variance that reflects the systematic differences between groups in a research
situation is termed as

(1) Common variance (2) Experimental variance
(3) Sampling variance (4) Error variance

The variance of the scores 1,2, 3,4,5 is
1) 2 (2 3 3 7 4 9

The critical difference between probability and non-probability sampling methods
lies in

(1) Choice of sampling frame

(2) Random selection of units

(3) Purpose of research study

(4) Composition of the population

The method of direct observation of the phenomena for empirical studies was first
suggested by

(1) Charles Pierce (2) John Dewey
(8) Francis Galton (4) Francis Bacon

For the purpose of computing correlation between a continuous variable and a
genuinely dichotomous variable, the most appropriate method is

(1) Product-moment correlation
(2) Point-biserial correlation
(3) Biserial correlation

(4) Rank-difference correlation
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41.  TH 225 ATEAT & Sfaest % foTT geawe o A fouer % W SH: 40 9T 8§ | Ui THfse
% FATe} WM o TTT 95% TovaefardT sT=atret quiiehi o UGi § GRITET SITQm
(1) 38% 427T% (2) 38% 41T
(3) 39¥ 427TH (4) 399 417%
42, Y% g H 25 foenfEl a =R wEl W fRT MU us ST 31eRE % ANOVA g
Torgeruor = gitomm fotad &9 ° 9ifhd & ¢
JET HT Gid &= Hife T HT TN
TG % " 3 1260
TR o 3T 96 4250
P 99 5510
3ITYh Afhgl o foTu F-31uTd 1 9 g
(1) 331 (2) 994 3562
43,  TEOT 1 98 W S My feufa § Tqgt o wey afedd sl i Sk il 8, (efafied § |
AT HEATT B ?
(1) 3Ivafss oo TAITTcHeh T8R0T
(3) whefia s 4) Ffe wEm
44. SRl 1, 2, 8, 4, 5 1 T8O &
1 2 (2) 7
45.  GwIfgar qen @il Siaeee 1 fafee &1 gewel o e § @ foraw ffga 2 2
(1) fest %A 1 ==
(2) ShIzAl <Al eugrt\@eh I
(3) MUHE H LA
(4) wHE 6T T
46. TS H AL e B i fafer w1 T ek santia My i gare wEvem fohe @
oft ?
(1) =red dre (2) 7 St
(3) HITEd Teed (4) IR S
47. UH dRdfaeh g9 WX qYT Ueh Had =% o HEY HgOrE-Y 0 ohid o (U (Hfdfkgd § 9
FH-Ef fafer suges anft 2
(1) WSF-HH~C Tgara-e
(2) forg-fgsniten aearary
(3) Teshiten Taawary
(4) AT -3T=R TeHreY
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48.

49.

50.

51.

52.

Two groups of student with 10 students each were given a test. Their scores are
listed below :

Group A : 5,4,5,6,17,7,6,5,4,5

Group B : 12, 14, 11, 13, 12, 15, 27, 10, 11, 13

Which of the following statistical tests would be used to compare the performance of
the groups ?

(1) Dependent t-test (2) Independent t-test
(3) Sign test (4) Analysis of variance

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Read the statements and choose the correct answer using the code
given below.

Assertion (A) : A reliability coefficient cannot be negative.
Reason (R) : Reliability is based on the correlation of the test with itself.

Code:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

An investigator studied the relationship between choice of stream (Art, Science,
Commerce) and the development of reasoning ability. This study may be classified as
(1) Sample survey study (2) Ex-post facto study

(3) Experimental study (4) Phenomenological study

A researcher constructed a test in which items required students to answer some
abstract concepts related to Newton’s laws of motion. Later, it was matched with the
scores obtained in a class test for the same topic. What type of validity appears to
have been examined ?

(1) Construct validity (2) Content validity

(3) Predictive validity (4) Concurrent validity

A researcher conducts a Yoga training camp to see its effect on wellness lifestyle of
participants. In a post-training session he/she assesses the change having taken
place in the level of wellness. Which of the following propositions will be valid for the
statistical test to be used ?

(1) Parametric value of H; is not equal to the parametric value specified in H,,.
(2) Parametric value of H; is greater than the parametric value specified in Hy,.
(3) Parametric value of H; is less than the parametric value specified in H,.

(4) Parametric value of H; is equal to the parametric value specified in H,,.
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48.

49.

50.

51.

52.

TH-c8 BHEI el & Tgl ol T wle fean mn | FrefaRad s i
Ggg A : 5,4,5, 6,17,7,6,5,4,5
TUE B : 12, 14, 11, 13, 12, 15, 27, 10, 11, 13

BT Tgl o frsarer Y ger e % fore ffafea § @ - wifershr wheen w3 8 2
(1) 3feE t-gdeon (2) TEd= d-udeur
(8) g wdiequ (4) IHT T fageyo

= 31 o fow e 2 o § T SR (A) R 3R gE @ (R) @ | Ol I Uiy AR A
fau ¢ e # & wE IR FAT |

7B (A) : Tervaafaran TuTeh FoumeHeh T8 &1 Hehal |

7% (R) : forgeraiarar foret wieror & 3199 319 @ &) geErE=y 9 IUTiE Bidl 2 |

e

(1) (A) 3R (R) qHI &8t 2 a1 (R), (A) ! €31 =41 @ |

(2) (A) IR (R) gHI @&l §, W (R), (A) 1 T&l =amen 7 2 |

(3) (A)EE 3, 7g (R) Tod 2 |

(4) (A T4 7, 7 (R) @& 2 |

Th NGl 4 A @A (Fell, TostH, IUSA) o T T Teh-31ek o [oh1E H TF-E I
AT foham | 38 31 o1 arfientur fAEfaftad § 9 forad fomam S Hehat @ 2
(1) Sfded-Haemr ez (2) SRR A

(3) TANTIcHe 3TETT (4) YRIUTICH ITETIH

Teh Terhdl 3 Teh WE qherr qan foran fed ol @l =g % id % T @ gt g g
oI T YS! o ST ST | 91 § ITedTehl hi el H i Y U = qlierur Wyt 37hi °
Thremen w3 fawg-aeg W o | 7@ fohw yeR 1 duar w1 e foen w2

(1) =l-gae Jud (2) fawg-aeg o

(3) wfosrar=eh (YNRI) et (4) Gued! Jerar

T SMEHAl | Teh AN A&V 79 H SASH R T IGehT THTE TR 1 T e
et W g@T | I HY % I e Sfad Aot § qigdd o1 gediehd fRa | 59 My |
freafafaa & & S uferew wiftersda wieo & fag 3g gef ?

(1) H, =1 gr=feres 7M1, H, % Tifvea grfers 7 & @6 7281 2 |

(2) H, % wrEfas qW, H, % Ffeaa sl o @ sife 3 |

(3) H, =1 wraferh 7H, H, % Mivea sr=ics 79 4 %7 2 |

(4) H, =1 yraferes qH, H % Fiv=a gr=ics 99 & @9 2 |
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53.

54.

55.

56.

Observation of the behaviour, cultural modes and dynamics of living of an ethnic
group by becoming a member of that group is known as

(1) Direct observation (2) Participant observation

(3) Natural observation (4) Non-participant observation

A researcher asked questions to several individuals systematically and
simultaneously by bringing them together in a comfortable environment in a guided
discussion. Which of the following techniques did he use ?

(1) Open-ended interview (2) Focus group technique

(3) Participant observation (4) Informal conversation

Which combination of the following conditions holds good for non-parametric tests ?
(i)  Generalizations need not seem to be realistic.

(i1)) No assumptions about the defining properties of the population.

(i1i)) Methods that do not use distributional assumptions.

(iv) Uses of data that are not obtained as interval or ratio measure.

Choose the correct answer from the code given below :

Code :
(1) (1), (1) and (11) (2) (1), (1i1) and @v)
(3) (i), (1i1) and (iv) (4) (1), 1) and (iv)

List I contains methods of correlation and List II conditions for using the methods.
Match the two lists and choose the correct answer from the code given below.

ListI List I1
(Method of (Conditions for use)
Correlation)
(a) Point Biserial (1) One variable genuinely dichotomous, one
variable continuous
(b) Product moment (ii)  Both the variables are artificially dichotomized
(c) Tetrachoric (iii) Both are ordinal measures
(d) Spearman’s rank (iv) Both the variables are continuous or interval
measures
Code :
(a) (b) (c) (d)
(1) @i (1) (iv) (iii)

2 @ (i1) (iii) (iv)
(3) @)  (v) (i) @)
4) @ (iv) (ii) (iii)
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53.

54.

55.

56.

fopet TSIl TE 1 HEE SR IHeh TGHT o UGN, HIEh{dh fShAThITd qT T&-88d <hi
Tt T 3TEIRH e o T fohu U 37acAiehd <l had &

(1) Y& el (2) wRUT 3Tactieh

(3) TThideh TR (4) BTN STaeteh

Tsh Yhdl I e ARl i $hIT hich J@g dATareRyl R i ufm=t # geafem st
afeh T IS | 3T R deriieh 1 3w foRa 2

(1) AH-TfSE TEThR (2) HIhH Y4 ThIH

(3) HEWW TR (4) FHI=TRE FTateTd

famforfiga st 1 shia-an wfmsy sumforess qheon o foe g g 2

() HE=HT & arEdideh fo@Ts e Y Teavehdt &l |

(i) wHfEe 1 gRaTiyd &E o e IS sweun T8 |

(iii) faferat s forawor Traeefi sheqmnsti 1 39 & ! |

(iv) 3 Afehgl 1 AT g A=aUet I STUTd "o gRT 9Tea = fomam T 3t |
= fou MU e § @ wE IW H AT

<< :
(1) (i), (1) 3 (iii) (2) (i), (iii) 3R (iv)
(3) (), (iii) 3 (iv) 4) (i), (1) 3 (iv)

Hre & T gEt 18 weErery S e o Tt dor gEh 11 H sk S o foe wid & #
s R A e T S S o g 8 8 A e

T 1 T 11

(wrgarary fafi) (3uaT o foTu urel)
(a) forg fgsmiiren (i) U =R ATEdforeh TGSt o gt = Had,
(b) UM Tl (i) Ml =R sed ¥ 7 fgumsh
(c) =g=hifesh (iii) GHT ShAES AT gRI STed =)
(d) wferde i et (iv) ST =X Tad agT SF-aael JoT gy gTed
e :

(a) (b) (e) (d)
(D Gi) 1) (iv) (iii)
2 @ (i1) (iii) (iv)
3 G Gv)  @G) i)
4) @ Gv) (D) (iii)
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57.

58.

59.

60.

In a research to find out how much students’ interest in a Social Science class
increases when a topic on History is supplemented by video, by a diary and by no
special method, which of the following statistical techniques will be appropriate ?

(1) Multiple regression analysis

(2) MANOVA
(3) t-test
(4) ANOVA

A teacher undertakes a research project on developing a positive attitude towards
school in order to assess the characteristics related to attitudinal behaviour. What
research tool/technique will be most appropriate to use ?

(1) Interview (2) Observation

(3) Testing (4) Questionnaire

From the list given below, identify those features which are linked with a good
hypothesis :

(i) The relationship between variables is empirically verifiable.

(i1)) The concept of variables is linked with values.

(iii) The theoretical support of the variables are not indicated.

(iv) Researcher’s own perception has little role to play in defining variables.

(v) The relationship postulated can be explained in terms of philosophical
perspective.

(vi) There is little scope for multiple interpretations in the indicators of variables

being related.
Choose the correct answer from the code given below :
Code :
(1) (1), (v) and (vi) (2) (i), Gv) and (v)
(3) (), (iii) and (iv) (4) (ii), (iv) and (v)

A researcher wants to explore whether a specific intervention programme brings
down absenteeism to a lower level. The research question is an example of

(1) Applied research
(2) Action research
(3) Causal comparative research

(4) Fundamental research
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57.

58.

59.

60.

T WY H BE] hl AT foH § & fohat Sgdl 8, AME 3Fg™ o T JhtoT &l i Tfaferdi
— dfife, SRt dun w15 fafvre fafy 76 @ ogqfa foran S | 5w ofiitfeurfa & ffafea & @
Hi-H Tiferhi qehish U Bt ?

(1) wedua fore fawemo

(2) MANOVA

(3) t-uliEgo

(4) ANOVA

T e A ANG Fraf-ad FagR i foRINarsti o qeared o fae faue™  ufd sgga
g fowfaa w6 ¥ Taf¥a & qiEs | %W w1 T TR | 38 9fEsr |
freafafaa @ & SF-a1 My Iy T 39w g 2

(1) H&IchR (2) TEdrHT

(3) wlem (4) SATE!

Frefafea g=t @ @ 37 fawarsti 1 sifee i 3s qitehes T & Trafad & :
(i) = % off= gra-y ol TS g Tty foam S ehar 2 |

(i) =R % JcIAl 1 HEEY 3Th AE W 7 |

(iii) = o HgTfaeh a0 i $fia &t fopam T |

(iv) SMerehdl ht Tt T 61 =/ ! aRuiya & § S8 yfiee 98 7 |
(v) W gFaey 3l SaTedl gl qseHH | i ST Hehd! 7 |

(vi) EFEfa =X 1 A i § §g-foe=HT &1 &8 w0 6 7 |

= fow e e | T W A g

<< :

1 @), () 3R (vi) (2) (i), (v) 3R (v)
(3) (), (iii) 3 (iv) (4) (i), (iv) 3R (v)

T IMYhAl I8 AT =Tedl o7 foh 1 Uk i g%asy Srishd Sl hl STufedtd i gt @l
U L FehdT 3 | 30 TR HI MY Fod Freaferfad & & foropt 3gmetor 2

(1) oFgd JHIH

(2) ToRaTcHeh ITgHE™

(3) <hIhIY JoiHTcHeh eI

(4) T STTEIH
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61. Which combination of the following explains the aim of Universalization of
Elementary Education in India ?

(i)  Free health service to rural children

(ii)) Ensuring universal enrolment of all children of 6 — 14 age group

(iii) Ensuring universal retention of all children of 6 — 14 age group

(iv) Ensuring quality education of 8 years to all children of 6 — 14 age group
(v) Providing legal support to the children of deprived groups

(vi) Imparting life skills to all children of 6 — 14 age group

Choose the correct answer from the code given below :

Code :
(1) (@), (i), (Gi)) and (iv) (2) (), (iii), (iv) and (vi)
(3) (i), (iii), (iv) and (v) (4) (1), (1i1), (v) and (vi)

62. In which system has optimal autonomy to local bodies been ensured ?
(1) Primary education in USA
(2) Community colleges in USA
(83) Secondary education in USA
(4) Primary education in India

63. Who controls higher education institutions in the UK ?
(1) Local bodies (2) Private bodies
(3) The Central Government (4) Respective provinces

64. The aim of vocationalization of education is to
(1) Enhance employment opportunities
(2) Impart vocational skills along with general education
(3) Strengthen the cottage industries of the nation
(4) Discourage the aspirants of general education

65.  Which of the following combinations explains the concept of distance education ?
(i)  Providing educational facilities from a distance
(i1)) Using ICT and other modern techniques of learning
(iii) Providing quality education at affordable cost
(iv) Providing educational opportunities to geographically unreachables
(v) Increasing literacy rate of the country in a short span of time
Choose the correct answer from the code given below :

Code :
(1) (1), (ii1), (iv) and (v) (2) (), (i1) and (iv)
(3) (1), (1v)and (v) (4) (@), (i1), (ii1) and (1v)
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61. 9Rd T YRk f31em o Ereeifiehientor & @& hl e i dTell dfiy shia-a1 § ?
(i) 7T STeTRl I H-3[ew @TEeT "an
(ii) 6— 1499 % THE % THE FTcToh] I A AHIR GHTId BT
(iii) 6 — 14 99 % THE % THE SATcTh] I TG TAUROT AT BT
(iv) 6— 1499 % HYg % THET FTcIohi hl 8 A <hl urEATgUl e Gifzad we
(v) daf=d ogEl o Terehi ol fafee Fgrar ¢
(vi) 6— 1499 % GUE % UL STeiehl bl o= Hiwret hI e
= feu U e ¥ | TE ST A gHT
E T
(1) @), (i), {ii) 3R (iv) (2) @), (i), (iv) 3 (vi)
(3) (i), (iii), (iv) 3 (v) (4) (i), (ii), (iv) 3R (vi)
62. g yoreht & werfiw fermt =i sseam T gifeaa i 1§ 2 2
(1) 3J.ua.u. i wafres fran
(2) 9.TE.N. % G HETerare
(3) . UH.U. i AreAtHen fram
(4) YR g wfies fore
63. .. H I= e wEHI *l A fREGE war g ?
(1) < em (2) Tt e
(3) “hgId T (4) et gew
64. e o SIIHRiH 1 e T 8 ?
(1) TSR & TEU § S
(2) T 8T & TIY-EY SATTETR B YSH Hi]
(3) TS % HER I sl TIRG THT
(4) T foer o TeRTiaTEt i fecaTted e
65. frfafiad @ @ qradi e i sEuren s aren SiH-a1 9 s @ 2
(i) 9 Aferes glagd ygm FHE
(i) TR B T8 €&, qAT T MYk qhHIeh ITANT HEAT
(iii) T A T OEU T JSH T
(iv) Wit €9 A AT i Afeqeh FTE I HEAT
(v) oH 79 o Tsg Sl AIERdT gt hl agHT
= fou U e ¥ | wE I A g
<< :
(1) (i), (i), (iv) 3R (v) (2) @), (i) 3R (v)
(3) @), (v) 3R (v) 4) (), (i), {ii) 3 (iv)
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66.

67.

68.

Below are given two lists. List I mentions the curriculum models and List II
mentions their characteristics. Match the two lists and choose the correct answer
from the code given below.

List I List IT
(Curriculum model) (Characteristics)
(a) Administrative (1) Interdependence of constituents with a focus on
process and outcomes
(b) Grassroot (ii)) Presentation in terms of agreed upon decisions
in consultation with peers
(c) Demonstration (iii) Emphasis on low cost or no cost educational
resources
(d) System Analysis (iv) Decisions based on lower level functionaries

and their perception of ground realities
(v)  Taking historical considerations
(vi) Hierarchical linear transactions
Code :
(a) (b) (c) (d)
1) W) (ii) (iii) (vi)
(2) (vi) (iv) (ii) (i)
(3) (ii) (iv) (ii) (v)
(4) (iii) (iv) (i) (v)

A few school teachers devised a number of teaching aids to teach science effectively.
The State Government suggested to follow this model for teaching science
throughout the State. This will be called an example of

(1) Administrative Model (2)  Grassroot Model
(3) Demonstration Model (4) System Analysis Model

From the list given below, identify effective curriculum transactional strategies.
(i) Development of E.T. resources

(i1) Capacity building of teachers in respect of use of suitable pedagogy

(iii) Multiple methods to be used as a general practice

(iv) Inviting parents to school during national celebrations

(v) Strengthening professional groups of teacher educators

(vi) Objective based formative and summative evaluation

Choose the correct answer from the code given below :

Code :
(1) @), @Gv)and (v) (2) (), (ii1) and (vi)
(3) (i1), (iv) and (v) (4) (1), (111) and (vi)
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66.

67.

68.

Hre < gt & ¥ | g 18 giesen & wfone @ S gEh 11 W S @em € | g9 gl
gferdi #1 gifra i st B g T ge § @ 3o g |

T I gt I
(uTSTsRn wfawTT) (wreroT)
(a) eI (i) ufskam ofit feufer o SR T4 5T wehl Hi TR
frrafar
(b)  eraei (i) wfer % @1 TRl ik, FEAd gy ol & &9
T SRt
(c) w&=H (iii) w9 $Hma =1 fomr hima & Aferes FETeEt | AR
(d)  srorTeft forgersor (iv) freTam TR & AT qem I wEl W HTia
forotar

(v) Ufetioes mex ol o
(vi) gergshite Wae frenfafa

<< :
(a) (b) (c) (d)
1 W) (11) (i1i) (vi)
(2) (vi) @iv) (i1) 1)
(3) (i1 (iv) (i1) (v)
(4) (iii) (iv) (1) v)
FD THell AT A [T 1 A F9 8 96 & g F Rewr wgres anll 5918 | T
TR 4 O 9eM & 38 dR-aleh ol GaEd TsT H UgH <hl e i | 30 formen 3argo
T ST 2
(1) emEes Ifaam (2) eaUaeta gfaue
(3) vz gfem (4) voredt faveryor gfaam
fa & S g § @ et ressen R e S Wit it ggem it |
() 3.3 TEEEl & o
(i) oYfa freror oIeT o AN o TeH § AEATIeh] 1 AT Fae
(iil) @ EER | Sgiei s 39T
(iv) TS TERrEl § 1frraehl sl Thal H S1H=0
(v) Toregen foremenfeai o smaenfies Tugl s Yo HE
(vi) IEGME MYTNG TS TR AT HoTohd

= o U e ¥ | T S H g

<< :

1) @), (v) 3R (v) (2) (@), (iii) 3R (vi)
(8) (i), (iv) 3 (v) (4) (id), (iii) 3 (vi)
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69.

70.

71.

72.

73.

Formative evaluation is linked with

(1) Quality monitoring of teaching-learning process

(2) Gradation of students’ performance in terms of set criteria
(3) Decisions in respect of learners promotion to the next grade
(4) Accountability norms of teachers

By summative evaluation is meant

(1) Assessing the learning outcomes at a specified point of time in the school
schedule

(2) Promoting student involvement in tasks stipulated by the curriculum designer

(3) Augmenting student motivation and sustaining it

(4) Providing feedback for improved learning

The ‘Taylorism’ theory lays emphasis on

(1) Systematic and objective procedures in management
(2) Application of modern technology in management
(3) Minimising the cost of production

(4) Promoting interpersonal relations among employees

In the following list of statements, characteristics of an effective educational

manager are indicated as against the one who is only ‘successful’. Identify such

statements, which are indicative of effectiveness.

(i) There is minimal difference between attempted leadership behaviour and
resultant student behaviour

(ii)) The student shows behaviour changes in terms of knowledge without burden

(iii) The teacher assigns tasks in the teaching-learning situation and students
complete them

(iv) Tasks assigned by teachers become intrinsically motivating to the learners

(v) The students comply with teachers’ directions

(vi) The students develop a sense of ownership and accountability in learning

Choose the correct answer from the code given below :

Code :
(1) (1), 11) and (11) (2) (iv), (v) and (vi)
(3) (i1), (iii) and (v) (4) (1), (v) and (vi)

Identify a rational sequence of decision making process from components as given
below :

(i) Implement solution

(ii)) Review decision based on results

(iii) Identifying the problem

(iv) Evaluate alternative answers

(v) Looking for all possible answers

Choose the correct answer from the code given below :

Code :
(1) (1), (i), (v), (iv), G) (2) (i), (v), (i), (1), Gv)
(3) (id), @v), (v), (1), (i1) (4) (i), (v), (iv), (1), (i1)
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69.

70.

71.

72.

73.

T oo fhed ST g7 2 ?

(1) TEATIA-STRATH AT T T[UTEATYUl ST%E0

(2) T Wl b €9 H BET hl fsafa w1 Tl
(3) IRpTHeRAteTi % ST e | WidAfd & IR § iy
(4) Tt 1 SFareed deeh o

INTTcHe Godich &1 319 3

(1) et SwRsRA | Fivad Tmg R Aferm it 1 ke

(2) UTSIshA ARl g0 9F 1 § BT shl WIfiER) sl SQreT &1
(3) B o AN H Faeld qm 39 sHTT AT

(4) e Al 7Y Fiqgfte

‘ot faga # faforfgq W oo fean s 2

(1) Yogd H geareod R aegss yonfera

(2) egd | g Tenfiehl 1 S

(3) 3T ANTd A HEAT

(4) HHENET & T AT hes oY TATYT HET

oAl i ffaRad g= 4 e @wa ek JeUw hI qodT § Tk g9 Wifee sEges 6
forRiwamd <) 7T € | IWTEeRTET ST Hehd & ATl UH el shl T SHifY |

(i) v R T e TR i aRum fereneff-cxawr § Sgd wH S B @

(i) Toremeff, sier & for 1 9 & &9 4 =¥egR ° qiadd guiar 8

(iii) 3reATaeh farequr-srferm fefa # wrd divar 8 <R faeneff 38 90+t @

(iv) TeATIeRi gRI |iY MU i, RremfE < foe aiferes €9 9 3 81 9 @

(v) formeff steamaent o fAGeTl 1 Te Xd &

(vi) foemeff, siftrme 4 wnfireg o Samercgl <1 wraT foshfea e €

fr= fam T e § & T 3w B g ;

E T

(1) (), (ii) 3R (iii) (2) (), (v) 3R (vi)
(3) (i), (iii) 3R (iv) 4) (i), (iv) 3R (vi)

= fou T et @ favi o9 it gfshan & deheTa 31 il ugEH HIfT
() TEYE SEfd

(i) wRomEl o Ifar W ol K wEfte e

(iii) EEET 6l IgaH BT

(iv) dehfcush I T YeAToh HTT

(v) &} gurfad I qamm

= feu 7T e § | HE W I AT

<< :

(1) G, (id), (v), (iv), () (2) @), (v), (1id), (1), (Qv)
(3) (id), (iv), (v), (1), (ii) (4) (iii), (v), Gv), (D), (ii)
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74.

75.

76.

In the two lists given below — List I embodies the situational leadership style and
List IT indicates the developmental level of followers (students). Match the two lists
in terms of style appropriateness for developmental level of students and choose the
correct answer from the code given below.

List I List IT
(Situational (Developmental level of followers
Leadership style) (students))

(a) Style 1 (Telling style) (1) Very high in competence, commitment and
cohesiveness (D4)

(b) Style 2 (Selling style) (i) High in any two — competence, commitment
and cohesiveness, but low in any one (D3)

(¢) Style 3 (Participative  (iii) Very low in all the three — competence,

style) commitment and cohesiveness (D1)

(d) Style 4 (Delegating (iv) Low in any two — competence, commitment and
style) cohesiveness, but high in one (D2)

Code :

(a) (b) (c) @
(1) (iii) (iv) (ii) (1)
2 @ (ii) (iii) (iv)
3) Gv) (iii) (ii) (1)
4) (@) (iii) (ii) (iv)
Which of the following combinations constitutes the process of educational planning ?
(i) Exploring
(i1) Developing
(iii) Providing feedback
(iv) Implementing policies and programmes
(v) Supervising
Choose the correct answer from the code given below :

Code :
(1) (@), (i), Gv) and (v) (2) (i), (ii1), (iv) and (v)
(38) @), 11) and (v) (4) (1), (iii) and (v)

A good supervision report in the context of a primary school should be concerned
with which of the following combinations ?

(i) Listing the hindering and helping forces

(i1) Providing corrective feedback

(iii) Highlighting weaknesses of the system

(iv) Reflecting on the resultant effects as perceived

(v) Making a critical report on the shortcomings of functionaries

(vi) Taking a holistic view of the role performance of functionaries

Choose the correct answer from the code given below :

Code :
(1) (@), (i), (iii) and (iv) (2) (1), (i), (iv) and (v)
(3) (1), (1), (iv) and (vi) (4) (i), (v), (v) and (vi)

3-00918 [NV NV ARV RAMARRE AU 36 Paper I



74.

75.

76.

o @ e 2 gt & gEh 1 H ofifeufama Aqea St wifter R i g=h I A srgETRa
(Teremferat) o forepraTeres Tt =l qifen o1 7 | foenfo o fashmtens T il Sugwhal i gfee
¥ 3 gt g B gafea Hifv ol i fie e e § @ @ 3w o g |

gt 1 gt 11

(ufifesrtama Sgea drett) (srgaiRrat (erenferan) = faremrares )
(a) el 1 (Fioee ) (i)  ewar, Sfdagd 3T HEfE I g ¥ 55d =1 (D4)
(b) Weft 2 (SuareA [eA) ()RR S — e, Ufdegar i TEie # @ fhdi 1 it

gfse ¥ 1=t W T hl gfee & A 318! (D3)

(c) St 8 (wfcHmoes Seft)  (idi) T — &wan, Siiegar 3T gafd 6 gfee o sga +

=8l (D1)
(d) weht 4 (SfaFgmeEs (v) &, Sidagar oK @4fe § 9 gl ol 6l gfee 9 =4
SH)) 3=t (D2) AR T § 3=

e
(a) (b) (c) (d)
(1) (i) (iv) (1) (1)
2 @ (11) (1i1) (iv)
3) (iv) (111) (11) (1)
4 @ (111) (i1) (iv)
frfafiea & @ SH-81 9= Aferes SRS 6l Ufshan 1 fmior wtar g 2
(i) WSEE HET
(i) Toerfaa s
(i) Ffafee (Fredew) ggm we
(iv) fdE 3T SR Sl HEid T
(v) IS R

= fou MU e § | T IW H AT

<< :

D (@), (i), (Gv) 3R (v) (2) (i), (ii), (iv) 3R (v)
(3) (1), (i) 3 (iv) (4) (i), (iii) 3R (iv)

foret wofies T % wed H Tk oredt wHaww furd frefafed fRe g @ wefvd g
=1fET ?

(i) w1 IR TEH AHAT T G

(i) gfares gfagfse (Fresh) JgM O

(iii) Jomelt <hl ShiHAT T IAFR HEAT

(iv) wegd foru o gfomeft wwrel e e

(v) hiTHeR! shl SHiFET o Y § Teh THTATRATCHS O JI1 T

(vi) eIl gra fums Tig yiftremt A1 a9y &9 § o

= feu 7T e § @ | W AT

<< :

(D @), (), (i) 3R (v) 2) @), (i), (iv) 3R (v)
(3) (), (i), (iv) 3R (vi) (4) (i), (iv), (v) 3R (vi)
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717.

78.

79.

In an interview situation, a respondent tends to give responses which are likely to be
acceptable to the members of the interview board. The phenomenon is technically
called

(1) Faking (2) Response set
(3) Social desirability (4) Halo effect

A test consisting of 40 items was administered to a group of students. The mean and
standard deviation of the obtained scores were found to be 24 and 5 respectively. The
reliability coefficient of the test equals

(1) 045 (2) 063
3) 072 4) 085

In the two lists given below, List I indicates the sources of validity evidence, while
List II gives their examples. Match the two lists and choose the correct answer from
the code given below.

List I List IT
(Sources of validity (Examples)
evidence)

(a) Evidence based on test (i) Analysis of the intended and unintended
content consequences of testing

(b) Evidence based on (i1)  Analysis of the processes engaged in by the
relations to other examinee or examiner
variables

(c) Evidence based on (iii)  Analysis of item relevance and content
internal structure coverage

(d) Evidence based on (iv) Factor analysis of test homogeneity
response processes

(e) Evidence based on (v)  Contrasted group studies
consequences of testing
structure

(vi) Ensuring face validity
Code :
(a) (b) (c) (d) (e)
(O Gi) () (iv) (i) 1)
2) @ (i1) (iii) (iv) (vi)
(3) (D) (iii) (iv) (v) (vi)
(4) (i) (iii) (v) (vi) (iv)
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77. U GITchR <hl fEafd O s ITerar 8 S a1 @ 2 diefeeR Hed & "e i g Wi
I hl THTEHT 8 | T8 HeAT debrlohl €9 O T hagalldl & ?

(1) b (2) IW IR
(8) WM ITSIdT (4) i@ gaE

78. U fomnefil TE W 40 AT AT UH qhE TR M | WTedTeh W1 WeAWH 3R wHeh fode
U 24 3 5 9 T | wequr o1 favawerar ek fefefad § @ fohweh s g ?

(1) 045 (2) 063

3) 072 (4) 0-85

79. =& W T g G g 1 Sgar 91ed o 9 gt 8, Sereh get 1L H 39 35 fou e
7 1 1 gFi gl sl gafea Hifve o A= for T e § @ & S @ g |

ECil g I
(Serar wrea & Hia) (3aTEon)
(a) wlew i fowgaeg W enanfi@ () wdieqor < @fea o STafeya aiomt
g fergereor
(b) 311 = A Gey W I wed (i) wheneff a1 wersk grr ggeh wfskaneti
foreersor

(c) Tafeh TTaAT W oMeni ared (i) 9 ST iR fawar-asg stesTed w1 favemo
(d) 3R i gfshaneti W emetia @1gdr (iv)  Gafrdiaar e 1 ieh faveror

(e) wlegu & G S giomHI W (v) R Ty enuti@ stemA
JTRa HiE

(i) S S e ffe
<< :

(a) (b) (© (d) (e)

(1 G () (iv) (ii) i)

2 W (i1) (iii) (iv) (vi)

3) (i) (iii) (iv) (v) (vi)

(4) (D) (i)  (v) (vi) (iv)
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80.

81.

82.

83.

Which one of the following set of statements in respect of score interpretation would
be called criterion referenced ?

(i) It usually assesses a fairly broad range of knowledge or skills
(i1)) Useful interpretation requires a relevant reference group
(i1i) Useful interpretation requires a carefully defined knowledge or skills domain

(iv) Compares performance to a specific level of performance as an absolute
interpretation

(v) ‘Percentile Rank’ of the individual in the reference group

(vi) Assignment of letter grades based on the percentage of items correctly
attempted on a test

Choose the correct answer from the code given below :

Code:
(1) (), (ii) and (iii) (2) (i), (iii) and (iv)
(3) (1), (ii1) and (v) (4) (iii), (iv) and (vi)

In which of the following situations should a test-user have more confidence in the
precision of test scores ?

(1) When the sample on which the test has been standardized is homogeneous

(2) When the test items are homogeneous

(3)  When the standard error of measurement is high

(4) When the standard error of measurement is small

In selecting an objective type test item for an achievement test, which of the
following difficulty levels is preferred ?

(1) 0-90 and above (2) 065-0-89

(3) 045-065 (4)  0-20 and below

Which of the following statements pertain to understanding level teaching ?

(i) The teacher presents information with a view to get it reproduced from
students.

(i1)) There is enough interaction ensured with the help of suitable examples.
(iii) The sequence of ideas presented by the teacher is insisted.
(iv) Teaching becomes dialogic and makes the learner active.

(v) There is enough scope provided for clarification, addition and reorganizing of
ideas by the teacher.

(vi) Teacher provides codes of various thoughts so that students do not miss them.
Choose the correct answer from the code given below :

Code :
(1) (1), (1i1) and (vi) (2)  (iv), (v) and (vi)
(3) (1), (1i) and (ii) (4) (i), (iv) and (v)
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80.

81.

82.

83.

ITedTeh SATEl 3 Frefefiad § @ wib-an shen agg frey wefifa waeme 2

(i) EWEIG: 380 FH 37 HIRS o Toh ATIeh R I oo (ol ST §

(i) 39T ARe & foT wd Hed wqg rufrd gir B

(iii) S =T % forw ws gufnfya s =1 shivret gies snfea a2

(iv) U QUi AT o &9 § T fafirse T aeh fsared 1 g 6t St 2

(v) HeH 9yg | =Afe hil wraweh Aoft’

(vi) foreft wiegor & &t ST fou U et <t W o STeR W avl SfmET 1 5d wr
= feu 7T e W § TR ST Al AT

e :
(1D (), (i) 3R (iii) (2) (i), (iii) 3 (iv)
3) (@), (iii) 3 (v) (4) (i), (iv) 3T (vi)

Frafafea & @ fha gon o us 9lero IuATeRdl ST qde gTedreRl Sl Sgar ¥ 2ifves favama
T S1TET 2

(1) S« GuaIdr SfdeRl T Teor i warehiehd fha T &l

(2) & T % T THSA &

(3) & uiHTd i A JfE Al &

(4) <& 9fTg I A J w9 &/

us fsuf adieror & fofu axqgiiss TR o wleqor gt 1 =F i Ty fefiiRiea ® @ fRm
ST T ! aliFar & Il B 2

(1) 0-90 3R 38 FW (2) 065-0-89

(3) 045-065 (4) 0-20 3R 358 =

fffed & & HH-8 HoF sEay T & e § grafea g 2

(i)  TEATIH FIAT YGH BT § arfen foremeff 37 wfafarfy €9 4 == o T |

(i) 3fua Igrewen g yafea yrEafes fham 1 gifeea forer s |

(iii) 3TEATISH GHT T=A =T o ShH W & |

(iv) TEATYH T HATGUh & AT Foree stfermmendl afsha a9 |

(v) A=A G foemi o TUsdeRt, 3Tqglg aem gaied o e qafed s |
(vi) 3reamaeh fafim fommi o foTu e Suciey s & amfep faemfdi & af g2 9 9 |
=t feu U e § | FE W H AT

<< :
(1) (D), (iii) 3 (vi) (2) (i), (v) 3R (vi)
3) (1), (ii) 3 (iii) (4) (i), (iv) 3R (v)
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84. In the following two lists — List I provides stages of teaching and List II lists the
activities undertaken during these stages. Match the two lists and choose the correct
answer from the code given below.

List I List IT

(Stages of teaching) (Activities undertaken)
(a) Pre-active stage (i) Determining objectives and planning instruction
(b) Interactive stage (i1) Retrospective look at instruction and getting

feedback
(c) Post-active stage (i1i) Holding meetings with parents
(iv) Implementing the plan, motivating and leading

Code :

(a) (b) (c)
(1 @ (ii) (iii)
(2) (i) (iii) (iv)
3 @ (iv) (ii)
4) @) (iv) (iii)

85. In the following statements are reflected the meaning and scope of educational
technology in the present context. Identify those which are systems’ approach.

i)
(ii)

(iii)

(iv)

(v)

(vi)

Teaching aids render the classroom presentations interesting and engaging.

Instruction has to be planned, implemented and evaluated in terms of learner
needs.

The classroom is a learning space for information processing.

That which is put into the classroom instruction ensures the quality of learning
and learning outcome.

A teacher has to learn to manage learning conditions in order to optimise
intended knowledge and skills.

Learning resources have to be effectively harnessed in order to accomplish
instructional objectives.

Choose the correct answer from the code given below :

Code :

(1) (ii), (iv) and (vi)
(2) (i), (iv), (v) and (vi)
(3) (), (1) and (v)

(4) (1), (ii) and (iii)
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84.

85.

ffafea < giewi § g 1 s1e 6l fawensti i guidr & a1 I 11 39 adnsti § i
ST areft fafafer b sarn @ |39 gE1 gl o gafea hifve o fie fiu e e @ wd
IR I AT |

g 1 =i 1T

(3rETam Y raEUTy) (rferferferat)
(a) Wigorge sraeen (1) SEGHE T AR FFEH & g
(b)  ST=fshaTcash STaw (i) 3TgeeM T wfagfee it w1 o
(c) Torequr-uwarq sraeen (iii) 3f¥yeTTeehl & A1 ST HET

(iv) IS T AT HET, IO YSH HEAT a4
T BT

%< :

(a) (b) (c)
1 @ (i1) (iii)
(2) i) iii)  (@v)
3 @ (iv) (b
4) @ (iv) (iii)

Freafefea wemt & adum geed & freqor Wit o o1 qen 3ok & @ wfafafrea ferar mn

2 | S e o IUTH 1 Ffdse st € el vgEm il |

(1)  3TEATY AT e AR hl FTeht Td STThYeh AT 2 |

(i) SATeFTHRAl hl STETIHRATHT o FTET & FIIH hl A1, Thamaa= T qoAtehd BT
=TT |

(iii) T TENOT (YSHAYT) o foTT hefm TferTH TH 7 |

(iv) ST e ¥H H T BT 8 9el STfermm ua Ifenmm o uftomy w6 giafeea s 2 |

(v) Afeehan o1vfise IH Td c&far Wiftd &g Teamueh ol Ieded qRfeufa 1 yerem dig
=Y |

(vi) ITICEITCH 3ewal shl Wfed 7q ATTH FEIEAT T IHTERI Glgd T =M1y |

et fou e e ° | wEl I H AT :

%< ¢

(1) (ii), (v) 3R (vi)

(2) (D), (iv), (v) 3R (vi)

3) (@), (i) 3N (v)

4) (@), (i) 3R (ii)
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86.

87.

88.

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Read the statements and choose the correct answer using the code
given below.

Assertion (A) : Teaching behaviour belongs to the category of being a modifiable
set.

Reason (R) : Microteaching, simulation and interaction analysis procedures
contribute to modification of teaching behaviour.

Code:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)is true, but (R) is false.

(4) (A) is false, but (R) is true.

Which of the following types of communication models provides the best
understanding in respect of human communication ?

(1) The Linear Model (2) The Interaction Model

(3) The Transactional Model (4) The Horizontal Model

In the two lists given below — List I mentions the styles of programmed instructions
while List II embodies the list of key features. Match the two lists and choose the
correct answer from the code given below.

List I List I1
(Style of programmed (Key features)
instruction)
(a) Linear (1) Software based regulation of teaching and
learning acts
(b) Branching (ii)) Demonstrate, prompt and release sequence of
frames
(¢) Mathetics (iii) Relatively larger frame size with error
treatment and home page
(d) Computer Assisted (iv)  Active responding with larger chunks of
Learning and Teaching information
(CALT)

(v)  Active responding, immediate reinforcement
and small step presentation

Code :

(a) (b) (c) (d)
(1 @ (i) (iii) (iv)
(2) () (iii) (ii) i)
(3) (ii) (iv) (1) (ii)
4) (@Gv) (v) (iii) (i1)
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86.

87.

88.

= Q1 A fou Y B T | wh sifiehe (A) B 3T gEU @ (R) 2 | el 1 iy iR A=

fou T e # @ T I g |

g (A) : RIeAv) aER Uk U8 a=g § qralf-ad & Sl e g |

7% (R) : g&n feon, STE qun statseal fave i wghhai e sqesr & e
H 9EEe § |

e :

(1) (A) 3R (R) gHI T& & T (R), (A) T W&l =TT 2§ |

(2) (A) 3R (R) qH ¥&1 2, 7g (R), (A) i T = &1 @ |

(3) (A)EE 2, 7g (R) A 2 |

(4) (A)7Ted 8, Wq (R) && 2 |

fafafga & @ gwer o1 w-E gfdqe gHdT 999 & g ° gaifies gy YeH il
32

(1) W afaam (2) 3rfsharcHes gfaa™

(3) frarf=afael gfqam (4) &fqs afqa=

Frfafea 31 gieet § gt 1 rfissfia srgeem &1 Sfer w1 gufar @ don I 11376 J9@ T
I FATAT 8 | 3 GHI Gl ol gAfeTa Hifore 3R = fqu 7T e # @ @ ST A g |

Ejl”fl FﬁﬁII
(arfersRfua sty 6 diferat) (@ T[oT)
() WH (1) wiFeaRR naTia fewr v iitrm fRamsti &t
e
(b) smE (ii) 9ef =l et U, AT U qAT STfRAT Icq
HUSA — HT
() aferd (iii) 3TUETHA ST UG SATHR qAT ¢ — IR T
HE I ISS Higd
(d) wHrgR FEIEa AfT™ T (iv) =fsha STfshen < gaett i €t ufet W smenfa
frgror (CALT) 2
(v) ®fsha TR, dTcehTicre Jee Td BIe 981 §
s
%< :

(a) (b) (e (d)
1 @ (i1) (ii1) (iv)
2 ™ (i) (D) i)
3 Gi)  Gv) @ (ii)
4) @Gv) () (iii) (ii)
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89.

90.

91.

One of the causes of visual impairment has been observed to be deficiency of
(1) Vitamin A
(2) Vitamin B
(3) Vitamin C
(4) Vitamin D

Which of the following features seem to be least relevant in the context of students
with learning disabilities ?

(1) Problems in impulse control
(2) Problems related to short or long-term memory
(3) Problems related to sustaining attention

(4) Problems related to punctuality in attending the class

In the two lists given below, List I consists of terms defining impairments or
deviations, while List II indicates the resultant conditions. Match the two lists and
choose the correct answer from the code given below.

List I List I1
(Terms defining (Resultant conditions)
impairments or
deviations)
(a) Mental Retardation (1) Inability to write coherently
(b) Disgraphia (ii)) Indulgence in antisocial acts which are
punishable in nature
(¢) Deafness (iii) Fragile X syndrome
(d) Delinquency (iv) German measles

(v)  Degenerative neuromuscular disease

Code:

(a) (b) (e) (d)
1 ™) 1) (iii) (ii)
2 @ (iii) (iv) (i1)
(3) @i) @ (iv) (ii)

4) (iv) (v) (iii) (1)
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89. gfeera fierhal o1 Tk RV HefaiRad § 4 fopeshl shefl hat T 3 2

(D
(2)
(3)
4)

faeriim A
faerfia B
faerfim C
faerfi= D

90. fr=fafiad d 4 - faxivar s1Rrm et stegmar ot T & e o g yEfies rd

3?
1)
(2)
(3)
(4)

LEICURERER R RIS

3Ted a1 < gty i Wfa gaedt gwen

I hf5d Ta- Taet geen

we H Iufed g § Ty o qree) geeht gue

91. = I Frharet st fo=e™ & aRdfvg & aret weg fdu 7o &, Sefeh g=it 11§ wiomdt
feufoai € 18 8 | 59 Q1 e i gHfaa SIS o = feu e e & & w7 3T 1 g |

(a)
(b)
(c)
(d)

e :

(D
(2)
(3)
4)

il =i 11

(Trorehan sreran ferarem =t (o fearfer)

gfTfia & 9T 9Tsg)

O Hed (1) goTa &9 § fore § s1emar

fewmitan (ii) ST Fedi H Hiowqar, S Jhfd H U &
SRR (iii) AR X HALT

Jro=TRar (iv) 9 @&

(V) TIRYH TTY-TAITTRT T

(a) (b) (e (d)
v) (1) (iii) (ii)
i) (i)  (v) (ii)
ii) @ (iv) (ii)
iv) (V) (iii) 1)
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92.

93.

94.

In the two lists given below, List I consists of terms used in the context of visual
impairment, while List II provides description of these terms. Match the two lists
and choose the correct answer from the code given below.

ListI List IT
(Terms used) (Description of terms)

(a) Normal visual acuity (i) Refers to a person with acuity below 20/200

(b) Low vision (i1) Related to damage or dysfunction of parts of the
brain responsible for visual functioning

(c) Blind inlegal terms (iii) Measured by how accurately a person can see a
symbol or letter at 20 feet

(d) Cortical visual (iv) Refers to a person having visual acuity between
impairment 20/70 and 20/200 in the better eye after correction.

(v) Hereditary disorder, causing degeneration of retina
Code :

(a) (b) (e) (d)
(L G Gv) @) (ii)
(2) Gi)  Gv) @) v)
(3) Gv) @i 1) (v)
4) @ (iv) (iii) )

Which of the following sets indicates the three major types of cerebral palsy ?
(1) Congenital anomaly, Seizures and Meninges

(2) Spastic, Athetoid and Ataxic

(3) Congenital anomaly, Seizures and Ataxic

(4) Congenital anomaly, Seizures and Athetoid

Which of the following statements is least appropriate for Inclusion ?

(1) All students receive education in their neighbourhood school

(2) Placements are age and grade appropriate

(3) Special education supports exist within the general education class

(4) Specialists and special teachers work as separate groups
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92. H 14 9 weg feu MU & et S gfeema frhan & g # foram < 8 | = 116 &9 wisqi
6 e & W R | 3 <Al gt w gafad i ot 9 for e ge § @ T IR H
g |

(a)

(b)

(c)

(d)

<< :

(D
(2)
3)
(4)

T 1

(g w13

W gfee <1 diguran
g gf

HIT 9 F gfeedH
e gfeera fremnar
(a) (b) (o)
i)  Gv) @
i)  Gv) @
(iv) (i1) (1)
1) Gv) (D)

(d)
(ii)
)
)
)

T I
(vrs3i <ht =aTET)

(i) 35! HeY W8 e § 2, foeeht gfee i dieomar
20/200 7

(ii) ZEeT GeY HiGdsh o 37 W i &ffdq 7@
gfsseen & 2, S gfe waet o & 92 8

(iii) ¥ wvaT 2 fob Uk =Afh 20 Hie 61 gl @ fopet
forg s19an 1R 1 fohat Tdihar & @ Hehal &

(iv) 391 GeYg 39 ATk ¥ B, Tl Sga 31f@ i
gfee <feumar, 3T= % ww=Td 20/70 3R 20/200 %
= 3

(v) durgra feepr @ Yo o sraendor grar 2

93. f=fafea # @ S-o1 ag== yaferss o & 69 9g@ w4 1 gefar 3 2
TTfEesh, TARIES 3TN LTt
TSI STEH, e 3R udeEs

(D
(2)
(3)
(4)

94, Tr=faRgd @ & SH-81 HuA THENE ¥ FHH IUIE @ ?

Teft foemeff e faehe & Tt § farem ued e €

T, Y qT TS o L&Y Bl B

oo frer T, T fover e o fiaX Iuctsy BT B
fororey e fomIv STeaTaeh gersh THgEl o AR W % Hd @

(D
(2)
(3)
4)
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95.

96.

97.

98.

99.

100.

In the following, list some statements are given to indicate the shortcomings of the

existing pre-service teacher education programme in India. Select the set of

statements which are shortcomings related to policy aspect at the level of higher

authorities.

(i)  Admission procedures in vogue are not empirically validated.

(i1) Attendance of trainees is not being strictly monitored.

(i1i) Curriculum transaction of teacher education courses is not up to the mark.

(iv) Fully qualified teacher educators are not available to man teacher education
institutions.

(v) ICT support is not adequately emphasized in the teacher education institutions.

(vi) Teacher educators are not being professionally trained at the level of
Universities/Apex bodies.

Choose the correct answer from the code given below :

Code :
(1) (@), (iii) and (iv) (2) (1), (v) and (vi)
(3) (i), (iii) and (vi) (4) (ii), (iv) and (v)

Which one of the following is the most important negative factor as a deterrent to
distance teacher education in India ?

(1) Lack of clarity in respect of policy

(2) Readiness of teacher education institutions to cooperate

(3) Scarcity of ICT resources for distance education

(4) Teacher educators are not specially trained for distance education courses

For sustainable quality thrust in teacher education in India, which one of the
following is most appropriate ?

(1) Revamping of pre-service courses

(2) Training of principals of teacher education institutions

(3) Improving the infrastructural support in teacher education institutions

(4) Capacity building measures to be given utmost priority

Which one of the following interventions has been put in place for faculty
improvement programmes in teacher education ?

(1) Two-year B.Ed. Programme (2) Two-year M.Ed. Programme

(3) Refresher Courses (4) Seminars and Conferences

Which one of the following is considered as a training strategy for teacher education
programmes ?

(1) Experiential learning (2) Concept mapping

(3) Micro-teaching (4) Brain-storming

Which programme in the newly designed teacher education course implies MOU
with institutions as per the guidelines of NCTE (2015) ?

(1) Transaction of theory courses

(2) Enforcing Professional Component (EPC)

(3) Practicum Component

(4) Internship
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95.

96.

97.

98.

99.

100.

frfafed g=t & 3o wom fou o & St wma & et % fow gd-8an gfvemor & foemm wrfswn

S BT gUId & | 37 HAAT - T Dl AT AN IFA AR o TR | Afd-9e 9 I

HfET gl g |

(i) yafeld AR (JasT) TfsRATSTT 1 U= YT & foham T B |

(i) wfsregeni 1 ufeafa <t et fme & 6t s @ 7 |

(iii) 3TEATIh TIET0T HIIHHT T UTST=AT UR=TAT T8 T T 781 8 |

(iv) oTeaTah Tareqor Tl shl 9T o ToTC Ui Awrar ATt TeaTash URIeeh 39aed &l @ |

(v) reaeh et g | omg H. A, (ICT) vmeds W waitd s 78 fean S |

(vi) T foafoemeri/fHemi & &R 9 Yeae iRieeh! i URel Tierr 9@ fean S @
2

= feU 7T e § H TR IH Hl AT

<< :

(1) @), (i) 3 (iv) 2) (@), (v) 3R (vi)
(3) (i), (iii) 3 (vi) (4) (id), (iv) 3 (v)

R H &Y LA & i gdicaled wid § Fefafigd § @ #HH-81 ge9 981 Thice
N & ?

(1) fara rsear

(2) ST TRTET0T TEAMT h GAT Y qeqtar

(3) o e % fou o1 1.8, waneAi &1 awE

(4) reaTas: Tfeeh I gtey gkt wgushal % fore o9y wv & ke & fren w3

Rd # 31eades fien § gHeHE e g (SR) % fov fefaRied § @ s-an w4t
R g ?

(1) Ua1-gd UTSTHHT hT THTH]

(2) 3TeATIh Tareqor el < ST ST wf¥Terr

(3) TeATIh frequr TeorHl H TEATTG gHeA | gUr

(4) &9aT GaEA W Tl Faiieeh Trefiehar i S

reTges fren ® Gehry gurR SrikAl & fow efefea § @ fom gxagl o6t oy fon w2 2

(1) <Q-adiy 1.7, HEHd (2) <r-adiy wH.ug. HEHT

(3) YTl dISIshn (4) TSIl I T

eI 1T Swrishdl o fou ffafiaa # 9 fore v ufwreror wrfifa | Siran 8 2

(1) IT¥ES AT (2) STIYTOT WA

(3) HeA-frego (4) Toamew-ufsn

J9-31f\yehfcua steaTaes f3rer diewshA 0 fohE s § W.HL A, (2015) & fewn-fdsn &
ITIET TEAMT < TY TH.3A1.Y, FiAfed 7 ?

(1) fagia = qresrshal =1 fharearm

(2) AEEIRE FRE gk § AhElg (3.RH.)
(3) YANTIcHeh R MU Teeh

(4) o gagar rH (SfNeTu/geEm)
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